HENEREREHES

SHS5F4H6H (K)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &

BERXFEE 1268|X77> 32.9 666 219
ESx 265.8 1,401 550

RXAIH LA 359.3 1,100 269

JUH LA 39.7 315 20

LEHLA 26.8 293 20

<AOLA 15.8 313 101

XA LA 307.5 1,389 119

NG 10.1 946 496

o5+ 29.8 700 300

FAHA 22.9 446 139

F+77>39 37.4 229 101

HFHS 91.9 46 29

>0OX/)VUl 191.3 1,270 644

AXF 16.9 515 81

TRORD 25.0 1,500 20

JdEHAN 14.7 80 50

Y= 22.5 4,800 369

18€ |1/ AHDTDZSTA 832.9 3,230 1,386

NG E

2,343.2




€:3=2) (BT ¢ kg)
SRR j=2F e B =2 = {8 Z {8 fm &

ne 19& TIVAVTAF A 31.7 100 20

>OxX/UL 14.6 1,200

ESWYAHZ 50.7 550 150

HY= 11.3 4,600 2,692

EXTVYURS 78.8 288 201

ERVHA 30.9 303 173
DOEJE 33 |EbITY (82) 1,211.5 3,700 3,000

aitdE 3,772.7




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
EEXFE 1268 £S5 3,124.1 1,600 500
ASHLA 157.6 700 500
<IALA 365.4 4,000 300
TAF A 22.4 2,000 300
R+ 34.4 500 200
<40 19.8 1,600 1,300
8o 11% ESX 51.6 2,100 1,000
e 19% <453 480.8 1,800 1,000
Sy & 36.6 1,100 1,000
aitiE 4,292.7




